2003 AP® STATISTICS FREE-RESPONSE QUESTIONS

i 2. When a law firm represents a group of people in a class action lawsuit and wins that lawsuit, the firm recejves
a percentage of the group’s monetary settlement. That settlement amount is based on the total number of people
In the group—the larger the group and the larger the settlement, the more money the firm will receive.

the defect, the firm will not recover its expenses. Therefore, the firm will handle the lawsuit only if it is convinced
that more than 5 percent of cars of this make and model have the defect. The firm plans to take a random sample
of 1,000 people who bought this car and ask them if they experienced this defect in their cars.

(b) Ir{x: tt.}llme copte:tcﬁ o{ ﬂﬁ;ﬁlt]uanon, describe Type I and Type I errors and describe the consequences of each
of these for the law firm.
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